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QUESTION 1

What actions are permitted by a hypervisor? (Select THREE correct answers)

A. A hypervisor may install a Guest OS.

B. A hypervisor may perform privileged tasks on behalf of the Guest OS.

C. A hypervisor may shape traffic on the bridged network devices for the Guest OS.
D. A hypervisor may directly manipulate memory.

E. A hypervisor may execute privileged CPU instructions.

Correct Answer: BDE

QUESTION 2

The xm list command has returned:

Name ID Mem VCPUs State Time(s)

Domain00 384 1 r 498.7

Debian 2 3051 p 783.5

Slack 664 1 b 313.6

Centos 7 512 2 r 455.1

Which one of the following statements is true about the above output?
A. It is necessary to use the xm command to change Slack\\'s state to running.
B. Centos is the domain which has consumed the most CPU time.

C. The domain with ID 2 uses paravirtualization.

D. Both Debian and Slack require xm commands to start running.

E. Slack is idle or waiting for I/O.

Correct Answer: E

QUESTION 3

A server with Xen installed has hardware and software requirements for full virtualization. What commands can tell you
about the availability of full virtualization on the server? (Select TWO correct answers)

A. dmesg |grep i intel|grep i vt; dmesg |grep i amd|grep i v
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B. egrep \(vmx|svm)\\' /proc/cpuinfo
C. xm dmesg | grep i hvm

D. grep i "Full Virtualization" /proc/xen
E. grep i "Full Virtualization" /etc/xen/*

Correct Answer: BC

QUESTION 4

Which command would start IPVS connection synchronization for the primary load balancer?
A. ipvsadm startdaemon=ethO,master

B. ipvsadm startdaemon=primary mcastinterface=eth0

C. ipvsadm startdaemon=master mcastinterface=eth0

D. ipvsadm startdaemon=ethO,primary

E. ipvsadm startdaemon=1 mcastinterface=eth0

Correct Answer: C

QUESTION 5

How many virtual CPUs can KVM support in SMP guests?
A. 32

B. 8

C.2

D. 16

E. 4

Correct Answer: D
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